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Directions: In this section you will hear 10 short conversa-
tions. At the end of each conversation, a question will be asked
about what was said. The conversations and the questions will
be spoken only once. After each question there will be a pause.
During the pause, you must read the four choices marked A),
B), C) and D), and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a sin-
gle line through the centre.

Example:

You will hear:

You will read:

A) At the office.

B) In the waiting room.

C) At the airport.

D) 1In the restaurant.

From the conversation we know that the two were talking
about some work they have to finish in the evening. This is
most likely to have taken place at the office. Therefore, A)
“At the office” is the best answer. You should choose answer
[A] on the Answer Sheet and mark it with a single line
through the centre.

1. A) 12.15. B) 12.50.
C) 1.05. D) 1.50.
— 0 —



. A) At a customs office. B) At a bank.
C) At a store. D) At a restaurant.
. A) She hopes to have longer time for lunch.
B) She hopes to have lunch a short distance away.
C) She doesn’t want to stop for lunch.
D) She wants to have lunch half an hour later.
. A) She got the ticket only a few minutes ago.
B) She didn’t decide to go until the concert had started.
C) She thought the concert would last until the next day.
D) She didn’t remember correctly the time for the concert.
. A) She hopes to be free.
B) She will hold the party.
C) She wants to bring something for the party.
D) She will bring in the New Year.
. A) He went 1o see his friend.
B) He hasn’t fininshed his paper yet.
C) He discussed his term paper with his friend.
D) He is far behind his classmates.
. A) She likes reading headlines.
B) She is not afraid to tell the truth.
C) She wants to write a paper.
D) She thinks it is right for newspapers to tell the truth.
. A) They want to change their plan for the next weekend.
B) The weather may prevent them from going swimming
next weekend.

C) They don’t believe the weather forecast.



D) They promise to go swimming next weekend.
9. A) $30. B) $60.
C) $89. D) $90.
10. A) Because he is rather foolish.
B) Because he wants to enjoy himself in the night club.
C) Because he can’t stand the noise.

D) Because his room is full of people.
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Directions: In this section, you will hear 3 short passages. At
the end of each passage, you will hear some questions. Both -
the passage and the question will be spoken only once. After
you hear a question, you must choose the best answer from the
four choices marked A), B), C) and D). Then mark the cor-
responding letter on the Answer Sheet with a single line

through the centre.

Passage 1

Questions 11 to 13 are based on the passage you have just
heard.
—_ 4 ——



11. A) Listening to music.
B) Swimming.
C) Walking.
D) Going to movies.
12. A) Running.
B) Cycling.
C) Fishing.
D) Hunting.
13. A) Swiss people are very frank.
B) Switzerland has a favourable climate for sporting activi-
ties.
C) Switzerland has a variety of attractions.
D) Switzerland is one of the most beautiful countries in

Europe.
Passage 2

Questions 14 to 16 are based on the passage you have just
heard. '
14. A) The silk T-shirt in white color.
B) The cotton T-shirt with a slogan or picture.
C) The nylon T-shirt worn on playground.
D) The wool T-shirt worn for work.
15. A) T-shirts feel soft and wash well.
B) T-shirts are smart and comfortable.
C) T-shirts go well with trousers.

D) T-shirts are suitable for evening wear.



16. A) New technology is being employed.
B) Advertisements are being widely used.
C) New designs are being adopted.

D) More synthetic materials are being introduced.

Passage 3

Questions 17 to 20 are based on the passage you have just
heard.
17. A) For protection against other animals.
B) For protection against other dogs.
C) Just for fun.
D) For the purpose of guarding the house.
18. A) Because they did not eat other animals.
B) Because they were useful for protection.
C) Because they were good hunters.
D) Because they always obeyed their masters.
19. A) For companionship.
B) For amusement.
C) For protection against robbery.
D) For hunting.
20. A) The city can be a lonely place.
B) Life in the West can be very dangerous.
C) People in the West are fond of animals.

D) The dog is a useful and friendly animal.
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Directions: In this section, you will hear a passage of about
120 words three times. The passage is printed on your Answer
Sheet with about 50 words missing. First, you will hear the
whole passage from the beginning to the end just to get a gen-
eral idea of it. Then, in the second reading, you will hear a
signal indicating the beginning of a pause after each sentence,
sometimes two sentences or just part of a sentence. During the
pause, you must write down the missing words you have just
heard in the corresponding space on the Answer Sheet. There
is also a different signal indicating the end of the pause. When
you hear this signal, you must get ready for what comes next
from the recording. You can check what you have written
when the passage is read to you once again without the pauses.

In the United States, people appear to be constantly on
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the move. (1) . How often (2)

moving vans on the road? (3)

Are so many people actually “(4)

? Yes, people in the United States are in-
deed on the move. (5) » about one third of
the population (6)

Every person who moves (7) for

making such a decision, Some people may decide to move (8)

. Some may wish (9)

And some have many other reasons. (10) s

the amount of movement in this country is substantial.
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During the first reading, you should listen carefully for a gen-
eral idea of the whole passage. Then listen to the passage
again. When the first part of the passage is being read, you
should fill in the missing word during the pause at each blank.
After listening to the second part of the passage you are re-
quired to write down the main points according to what you
have just heard. Finally, when the passage is read the third
time you can check what you have written,

Our (S1) is being (S2) faster than
S3) and rﬁan’s present efforts can prevent it. Time
1s(S4) us more(S5) ,» and more people will
bring us more (S6) , more motor vehicles, (S7)

cities, and the growing use of man-made (S8)

‘What can explain and solve this problem? The fact is that
pollution is caused by man— by his desire for a modern way of
life. We make “increasing industrialization” our chief aim.

(S9)

. But as our technological achievements have grown
in the last twenty years, so pollution has become a serious
problem.

Isn’t it time we stopped to ask ourselves where we are go-
ing and why? It reminds one of the story about the airline pilot
who told his passengers over the loudspeaker: “I’ve some good
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news and some bad news. (510)

The

sad fact is that this becomes a true story when applied to our

modern society.
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